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30 4 4 411 H 0.14 0.10 0.09 0.11 0.15 0.08 0.13 0.09 0.11 0.11
5 4 9 H 0.13 0.11 0.10 0.11 0.13 0.11 0.11 0.10 0.11 0.11
6 A 6 H 0.13 0.10 0.10 0.07 0.10 0.10 0.14 0.10 0.11 0.12
TH 4 H 0.12 0.10 0.09 0.10 0.10 0.09 0.14 0.10 0.11 0.11
8 A 1 H 0.13 0.10 0.09 0.10 0.13 0.08 0.13 0.10 0.11 0.11
9 A 5 H 0.11 0.09 0.11 0.10 0.13 0.08 0.14 0.09 0.08 0.10
0 4 3 H 0.12 0.09 0.10 0.10 0.12 0.09 0.13 0.09 0.11 0.08
11 A 7H 0.12 0.10 0.10 0.08 0.11 0.09 0.12 0.09 0.11 0.08
12 4 5 H 0.11 0.10 0.11 0.09 0.09 0.10 0.13 0.09 0.11 0.09
1 A 16 H 0.11 0.10 0.11 0.11 0.12 0.09 0.13 0.12 0.09 0.09
2 A 6 H 0.11 0.09 0.10 0.09 0.12 0.08 0.13 0.10 0.10 0.08
3 A 6 H 0.12 0.09 0.11 0.10 0.12 0.09 0.13 0.12 0.08 0.10
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30 4 4 H 11 H 121 885 Aweth (2K40) At (1K)
5 A 9 H 209 765 Akt (240%) Awt (1)
6 4 6 H 242 1,210 At (2K00) A (1K)
7TH 4H 143 954 Aweth (2K40) At (1K)
8 A 1 H 99 721 At (2K0) At (1K)
9 A 5 H 131 610 e (LK)
9 1 28 H AR (25K0%)
01 3 H 84 614 AR (25K0%) AR (1K)
nH 7H 94 726 Ahe (1£6H)
A 2 A AR (25K0%)
12 10 5 H 7 565 AR (25Ki0%) AR (1K)
1 16 A 31 392 AR (25K0%) AR (1K)
2 4 6H 62 410 AR (25K0%) AR (1)
3 4 6H 50 425 AR (25K0%) AR (1K)
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